
SECTION 1/2"=1'-0S204
N

(1) 5/8" Ø CARRIAGE BOLT THROUGH
TOP AND BOTTOM CHORD -TYP @ <N>
4x6 TO <E> 6x6

(1) 5/8" Ø CARRIAGE BOLT @ 24" -TYP @
<N> 4x6 TO <E> 6x6

<N> 4x6 TRUSS REINFORCING SISTERED
TO <E> 6x6

(2) 5/8" Ø CARRIAGE BOLT THROUGH
TOP AND BOTTOM CHORD -TYP @ <N>
6x6 TO <E> 6x6

(1) 5/8" Ø CARRIAGE BOLT @ 24" -TYP @
<N> 4x6 TO <E> 6x6

<N> 6x6 TRUSS REINFORCING SISTERED
TO <E> 6x6

<N> 4x6 TRUSS REINFORCING
SISTERED TO <E> 6x6

<N> 1" Ø CABLE BRACING SUPPORTED
FROM <E> PURLINS @ 12'-0" MAX W/
THREADED ROD PIPE HANGERS, SUPPORT
CABLE PRIOR TO TIGHTENING -TYP

PROGRESS ONLY

NOT FOR CONSTRUCTIO
N

D
R
A
W

N
 
B
Y

S
H

E
E
T
 
T
I
T
L
E

I
S
S
U

E
 
D

A
T
E

S
H

E
E
T
 
S
C
A
L
E

C
O

P
Y
R
I
G

H
T
:
 
R
e
u
s
e
 
o
r
 
r
e
p
r
o
d
u
c
t
i
o
n
 
o
f
 
t
h
e
 
c
o
n
t
e
n
t
s
 
o
f
 
t
h
i
s
 
d
o
c
u
m

e
n
t
 
i
s
 
n
o
t
 
p
e
r
m

i
t
t
e
d
 
w

i
t
h
o
u
t
 
w

r
i
t
t
e
n
 
p
e
r
m

i
s
s
i
o
n
 
o
f
 
S
t
r
u
c
t
u
r
a
l
 
I
n
t
e
g
r
i
t
y
 
C
o
n
s
u
l
t
i
n
g
 
E
n
g
i
n
e
e
r
s
 
I
n
c
.

0
7

/
2

7
/

2
0

1
6

J
C

S

P
R
O

J
E
C
T
 
N

O
.

P
R
O

J
E
C
T
 
N

A
M

E

1
5

-
0

2
2

2

B
R

I
C

K
 
S

O
U

T
H

,
 
T
H

O
M

P
S

O
N

'
S

 
P

O
I
N

T

P
o

r
t
l
a
n

d
,
 
M

a
i
n

e

1
/

2
"
=

1
'
-
0

"

S
E
C

T
I
O

N
S

S204

AutoCAD SHX Text
July 27th, 2016


